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[CHEMISTRY]

(b) The number of electrons in an atom is equal to its
atomic number i.e. number of protons.

(a) No. of protons = Atomic -no. = 25 and no. of
neutron = 55 - 25 = 30.

(a) Na* and Ne are isoelectronic which contain 10
electrons.

(a) One molecule of CO, have 22 electrons.

(c) Mass of an atom is due to nucleus (neutron + proton).

(c) Most probable radius = a,/Z
where a, = 52.9 pm. For helium ion, Z = 2.

= ﬁ = 2645 pm.

mp

(¢) Na® has 10 electron and Li* has 2 electron so these
are different number of electron from each other.

(c) Pi5=285

(c) é60" have more electrons than neutron
p=8e=10,n=8.

(b) CONH, =6 +8+ 7 + 2 + 1 (from other atom to form
covalent bond ) = 24

(b) Complete EC.=[Ar]®®*3d°4s24p°.

(c) Neutron in éZC =6, , Neutrons in %28!’ =14

Ratio=6:14=3:7.

(c) H =1s® and He" =1s°.

(a) Number of unpaired electrons in inert gas is zero
because they have full filled orbitals.

(a) Incaseof N, p=7 and ¢ =10

() Atomic number of chlorine 17 and in CI~ ion total no.
of electron =18.

C
(a) The central part consisting whole of the positive charge

and most of the mass caused by nucleus, is exiremely
small in size compared to the size of the atom.

(b) According to the Bohr model atoms or ions contain one
electron.

(c) e-particles pass through because most part of the atom
is empty.
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(b) An electron jumps from L to K shell energy is released.
(b) Both Heand Li* contain 2 electrons each.

D
B
B
A

(a) Increases due to absorption of energy and it shows
absorption spectra.

A

(c) Emission spectra of different A1 accounts for
quantisation of energy.

(d) According to de-Broglie [A = LJ .
mv

-34
(C) j_:i— 6.625x 10 =10,30m.

mU0.2 kg x

60x 60ms !

(a) We know that the correct relationship between

wavelength and momentum is A = E Which is given

p
by de-Broglie.
Ch / f =0, f a—gf —}f e = 1
arge/mass for n =0, for —4,0r|0—1, or 1/1837
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